Subject: Re: Histogram with logarithmic filling
Posted by David Fanning on Wed, 31 May 2006 17:15:36 GMT

View Forum Message <> Reply to Message

David Fanning writes:

> ['ve only investigated

> the case where YLOG=1, but you have to change a number of
> yfill values to 1 (instead of 0)

Now that | look closely at my code, | did change this line:

Yfill = [0, Yfill, O]
To this line:
Yfill = [1, Yfill, 1]

But there were 3 or 4 other places where | have to find "[0,yhist,0]"
and change it to "[1,yhist,1]".

Cheers,
David
David Fanning, Ph.D.

Fanning Software Consulting, Inc.
Coyote's Guide to IDL Programming: http://www.dfanning.com/
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